PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
17th July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Harappa was named so by / 8SWI I Yg ATH e fean
® John Marshall /\_rl"ll:fm
® R D Bannerjee / SRE! TSI
® DayaramSahni / QARTH qlg'_'ﬂ
* Aurel Stein / 3Ra &=

Correct Answer :-John Marshall / ST AT

2)
Question Stimulus :-

Who founded the web based email Hotmail? / 99 STHTIYd s‘ﬁ?r G\ﬁﬁﬁ P G foraq @t A2
® Jimmy Ankelasaria / er:lﬂ SfpergTiNar
® NR Murthy / TSR Hfd
® Sabeer Bhatia / TR HTfeAT
® Azim Premji / 3oltH Ut

Correct Answer :-Sabeer Bhatia / J&IX HIfedT

3)
Question Stimulus :-

Who is the Chairman of National Water Resource Council? / ?Tg’l'q KGN q'h'q_c{ & 3 g CaE| %?

® Prime Minister / UHUT WA

* President / Igufd

® Union Minister of Water Resources / Tl'gqﬁf ST ST HAt



* Vice President / 3 gufd
Correct Answer :-Prime Minister / WtT H3t
a)
Question Stimulus :-

What is the capital of Telangana? / AT BT IS T %?
e Secunderabad / fideTarg
® Hyderabad / %Wl'q'
e Nizamabad / fFeTHTETG
® Karimnagar / FHATR
Correct Answer :-Hyderabad / 8SRT91G
5)

Question Stimulus :-

Lat-Ki-Masjid is located at___. / @le-®! Af%IG H a2l
 Bhopal / HIUTA

® Dhar /YR

® Anuppur / {-JUYY
° Morena/'ﬂa_'ﬂ

Correct Answer :-Dhar / YR

6)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁl‘q
it foT T HYAY vd fepul & I § 9 2

Statements: / ®YH:

All teasers are puzzles. / T giRwpa gara ugeh g1
All puzzles are ticklers. / Wﬂ-ﬁmm gRfRufa 3
Conclusions: / fshd:



I. All teasers are ticklers. / I. 9 gf¥wa Tama Trgs ulRkfRufa g1
II. All ticklers are teasers / II. 9} Ag® uRfRUfY giRwa Tama B

® Only conclusion I follows / Had e 1 Apadr %

®  Only conclusion II follows / pad frspd 11 fApadr %

® Either conclusion I or conclusion II follows / T df fors®d 1 a1 fiby foreepd 11 fFrpear %

® Neither conclusion I nor conclusion II follows / =T @1 fors ¥ I fyerar % A o o 11

Correct Answer :-Only conclusion I follows / Sad freed 1 fpadr &

7)
Question Stimulus :-

A pediatrician is monitoring the growth of 7 children - A, B, C, D, E, F and G who were all
born on the same day at approximately the same time. He has made the following

observations: / U& dIeRNT fARwy 7 =0t & faw™ &1 3rgdlem $I W 8- A, B, C, D, E, F 3R G &
TN TP 999 W TS §1 39 Ua1 g€ A| 39+ e vaqor fa:

¢ No two children have the same height.

e E is taller than G while G is taller than C.E,GG,C
e Cis taller than B while F is taller than G.C,B F, G
e Dis tallerthan F.D, F

Which of the following must be true if F is taller than G? / A9 & @ ®19 4 ¥« g1 9ied afe F,
G 9§ T 82

® GistallerthanD. / G,D Jq T %

® EistallerthanA. / E,AQWT%

® DistallerthanC. / D, C I awT %

® DistallerthanA. / D, A Jq T %
Correct Answer :-Dis taller than C. / D, C & THT §
8)

Question Stimulus :-

P+Q means P is the son of Q; P-Q means P is the wife of Q, PXQ means P is brother of Q,
<= Q means P is mother of Q and P=Q means P is sister of Q. / P+Q &I Hddd ? P, Q ?:b‘raET%;
P-QPHTHIGATE P, QPI Ul 3, PXQ HTHAAI e P, QFTUE §, P + Q T AT & P, Q F1 Hi ¢ 3R
P=Q &T Hddd § P, Q ! 98 &I



What does U+W-V mean? / U+W-V &1 T 7qdd §?
® Visthe fatherofU/V, U %?fh?n%
® VisthesonofU/V, UW@ET%
® Vs the brotherof U /V, U &I ‘H'I'&r'%
® None of the above/maﬁgqﬁ
Correct Answer :-Vis the father of U/ V, U & fUaT §
9)
Question Stimulus :-

Sunset Point also known as Bamni Dadar is a major attraction in which national park? /'\‘ICI'T'\‘?I' Waﬁ:ﬁ' AR D

U d ot o eiren 3, forw sty urdh &1 v v sy 32

® Panna National Park / UHT TSI ST

® Madhav National Park / HTHd ITPIY JETH

® Fossil National Park / STTAT=H I ST

e Kahna National Park / WW@HW
Correct Answer :-Kahna National Park / WI%T?T@'HB?IH
10)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / Tfe ardfY 3R W 3rpfa & g7 Ft 91 F1 F T wies forar smar @, ot Ay fawea & @
o A fawer & vas rff o feurd T waw ¥ faudia 82

W

O|wW|E

=]




=

Correct Answer :-

11)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu gﬁm’,ﬁﬁ qTH B Gy

9 2 few T By & FHE &

It is not true that both Australia and Srilanka won the World cup. / 98 I T8l 8 f%
Sieeferar iR feiet gl A 98 Hu Sftar|

e Australia won the World Cup and Srilanka won the World Cup. / 3ReferdT 7 a8 &4
Sftar 3R e = ae o Sftar|

e Australia did not won the World cup and Srilanka did not won the World Cup. /

ST A ae8 ®U &1 sitar 3R fider A 968 Hu ) oftan|

e Australia did not won the World cup or Srilanka did not won the World Cup. /

ST = ae8 ®Y g1 sitar a1 fedT A ac8 HY Tl Sitarl

e Australia and Srilanka did not won the World Cup. / 3iT& /T iR e A aee & "8t
ST

Correct Answer :-Australia did not won the World cup or Srilanka did not won the

World Cup. / 31T A a8 &Y 5! SiidT a1 fid®T 3 968 HU =gl oitdrl

12)
Question Stimulus :-

Directions: 5 persons are sitting in row. One of the two persons at the extreme ends is
intelligent and other one is fat. A fat person is sitting to the right of a weak person. A
tall person is to the left of the fat person. And the weak person is sitting between the

intelligent and fat person/ﬁiﬂ:SWWﬁﬁ%@%lW@?%ﬁmﬁﬁw
YiSUTE § TUT gORT Hiel 81 U Hiel dAfad U $HGR Afad & gifgd 3R 3071 g1 TH a1 Afad Al
e & I8 3R 93T 31 3R FUWR afda giga iR wie aafea & S § 9871 71

If the fair person and fat person exchange their position, so also tall and weak, then

who will be sitting to the left of the weak person /Hﬁﬁﬂﬂ%ﬁﬁﬁﬁ,mw
D! gd |, YT G4 AR FUAR Wt 3o ®IF 9ea o, 91 FUER SAfdd & ardt iR B 372

* Intelligent /g%m'—r



e Fat /HicT
e Fair /TMRT
e Tall /ddT

Correct Answer :-Fair / TRT

13)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu ﬂﬁl'q,\_rﬁ a& Bt TP
AT NsE ST :

If today is Saturday, then tomorrow is Sunday. / 3R 35l VAR §, 9 $d IfAaR B

e If today is not Saturday, then tomorrow is not Sunday / 3RR 3T< YfaR 78l &, a1 el
NECIEE R

e If today is Saturday, then tomorrow is not Sunday / 3FRR 3T VAR g, a1 $d IfqaR gt

g

e If tomorrow is Sunday, then today is Saturday / GITRWW%, ar arrﬁrwrﬁ?m%

e If tomorrow is not Sunday, then today is not Saturday / 3R ®d I(4dR &I &, dT Ml
TIfaR T8l
Correct Answer :-If tomorrow is not Sunday, then today is not Saturday / 3R &d
faar =& 8, dt aret <fvar 78 @
14)
Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / e Gﬂ?ﬁf
H, g Pias & MbER I WRgd Hal 3, FAPivr axiiar 8 e ARy o smifasm v smaa
TR U f5d 13 )



B represents / B U&Jd Hdl §

e Professor who are neither medical nor surgical specialists / WHaR St 9 Gﬂﬁﬁiﬂ?
fafree § ok 7 & Teafufres fadvy

e Professor who are not surgical specialists / MHBAR Sl eI Poad ﬁaﬁw i %

® Medical specialists who are neither professors nor surgical specialists / \HTﬁﬁilFr

ffrcr® s ibar T8 § iR 7 & Ieufifecrs foduy §
e Professor who are not medical specialists / WHIR ©f Gnﬁﬁm?mﬂﬁ%

Correct Answer :-Medical speC|aI|sts who are neither professors nor surgical

specialists / R fRiffcT® o Wibax F81 & 8k 7 & Ieufifras faviuy &

15)
Question Stimulus :-

A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women's
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organlzatlon /

A,B,C,D,E 3R F U® 509 & T &1 39 99g ¥ qf faarfza wts &1 A, D & ufay &1 uts 31 C 3
sfear af$n fai wifieRE & sremen 81 F, U RIaRare®, $aRT 81 B 3t Ual 39 909 &1 9 8l
%lgﬂﬁﬁmﬁwé’ruﬁﬂw%m%l B 3R F, T& g e § JgHHl gl

How many unmarried male members are there in the group? /'\‘l‘lﬁﬁ foaq srfaarfea &Yy
e g2

® One /UDH
° Two/a

e Three /diF



* Four /dR
Correct Answer :-One /T
16)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁl‘q
St foT T HYAY vd fArepul & v d 9 2

Statements: / HY-:

All readers are poets / T4 UI6® Hdl &

All writers are readers / I dEP U %
Conclusions: / fshd:

I. All readers are writers / 1. I ure® dE® %
II1. All writers are poets / II. I dEs ?ﬁﬂ%

® Only conclusion I follows / *ad freey 1 fAeadarn %

® Only conclusion Il foIIows/aﬁﬁ forsed 1| fpaar %

® Both conclusion | and I foIIows/ﬁ forepd 1 Gﬁ? II foad %

® None of the conclusion | or Il foIIows/ﬁ'W'Ef ITGTIIH A 33-1% T'I"b‘T IGETSGI %
Correct Answer :-0Only conclusion I foIIows/aﬁH frrsed | fear %

17)
Question Stimulus :-

In which year was Mahavira born? / UBTAR &1 o+ fory adf & BT UT?
e 599 BC /599 39T qd
* 602 BC /602 39T qd
® 400 BC /400 39T qd
* 540 BC /540 39T qd

Correct Answer :-599 BC / 599 39T Jd

18)



Question Stimulus :-

‘Hinglajgarh fort’ is situated in which district of Madhya Pradesh? / ‘%TI?I'IW' e WS & fpy fora o fRua
&

e Neemuch / Hd

® Mandsaur / 'Flaﬁ?

® Rajgarh /XISl

® Tikamgarh / 'cﬁm

Correct Answer :-Mandsaur / HgHIR

19)
Question Stimulus :-

Amarkantak is also known as ./ 3HAIHCH Pl & Ar| A WY ST S %I
® Satpura / JdYRT
® Avanti / 3ra=it
® Tirthraj / GRS
® Pushkar / &b

Correct Answer :-Tirthraj / GIdRTS

20)

Question Stimulus :-

The Reserve Bank of Indiaisa ./ YR frord §@ Udh _%I
® Central Bank / 419 @Y
® Commercial Bank / TAATI® AfUBIT
® Co-operative Bank / '\‘I?H’TI'\FT 3fipy
* Lead Bank / 9IS @Iy

Correct Answer :-Central Bank / $s19 fUdy

21)

Question Stimulus :-



Cattle get affected by Foot and mouth disease due to ./ o=t &1 P PRV 3R '53' & I gyTfaa
8 ST g1

® Fungi/ ddH

® Virus /dIgd

® Bacteria/ GﬁﬂTUj

® Amoeba / FfT BT oig
Correct Answer :-Virus / dIg¥d
22)

Question Stimulus :-

The minimum age for the members of Rajya Sabha is - / ITSd HHT BT AT CECK:g ﬁm gAdH 31 %—
® 25years /25 T4
® 21 years/21 94
® 30 years /30 dY
® 3Syears/35 CL

Correct Answer :-30 years / 30 94

23)
Question Stimulus :-

Who is the only person to have been appointed as acting prime minister of India twice? / s YR & yurwE
& U H g R frgea fean wame

® Dr. Rajendra Prasad / ST XTSi% WRITG
® Gulzari Lal Nanda /'ﬂ?l\_rl'lﬂ?l'l?fw
® Morarji Desai /m aﬂ'l_é
® Sardar Patel /W"ﬁﬁ
Correct Answer :-Gulzari Lal Nanda / TASTRIATd Al

24)

Question Stimulus :-



Which of the following States has had the continuous longest duration of President’s Rule in India? /

R H Faff@d | 6w Isu # 9 o 999 9 TR APUfd JATHT 1 6T A2
® Punjab / Uolld
e Jammu & Kashmir / 9% Ud IR
® Puducherry / G

® Madhya Pradesh / H¥d H%QT
Correct Answer :-Jammu & Kashmir / W% Td HTIHR
25)

Question Stimulus :-

Where does the Chambal Originate from? / dael ﬁzfﬁ 3RY gidT %?
® Janapav Hills / STUd TI'ETP{-'»ﬁ I
e Mikkai Ranges / H&pS HTHTSM
® Sagar District / IR fora @
® Rewa District / a1 fora @
Correct Answer :-Janapav Hills / S-9d UgTIfSai 9
26)

Question Stimulus :-

The sun temple is located at / '\‘[& 'Fl'm qﬁ R« %:

® Amritsar / H{dIAR

® Konark / PHIUD

® Hampi / gt

® Ajanta Ellora / 3fSidl USRI
Correct Answer :-Konark / ®IUTH
27)

Question Stimulus :-

Which of these companies is not a manufacturer of chassis for heavy commercial vehicles? / §1 Hufaal # ¥ P



T WY arivTues arg=l & giel &1 fAtar 181 32
® Tata Motors / €Tl Wed
® Ashok Leyland / 3[R AAS
* Volvo/dical
* Maruti Suzuki / A4 JoP!

Correct Answer :-Maruti Suzuki / ARfd &t

28)
Question Stimulus :-

Who is the current chief economic advisor to the Government of India? / HIRd IXPIR & 'Fﬁw < e
AAGHR I 82

® Subramanian Swamy / qu HaTFn

® Arvind Subramanian / 3RTdg ﬁm'ﬁ

e Kaushik Basu / PIFH 99

® Raghuram Rajan / TYITH MG
Correct Answer :-Arvind Subramanian / 3R{dg GaHIOA
29)

Question Stimulus :-

Which of the following was the First High Court established in India? / frrafafea o Q $i9 91 gaa Ugd 3=
TATAT MR | RITIUT gaiT o1?

® Madras High Court / HGIN 3= <UTATAd

® Bombay High Court / _Gﬁg Sod ATy

® (Calcutta High Court / cIpdl 3l TATAY

® Allahabad High Court / Sdlgldlq 3= ATATd

Correct Answer :-Calcutta High Court / PP 3o —ATATAY

30)

Question Stimulus :-



India exports all of the following except / HIRd TP | Tﬂw oo & @ 9t =1 frata wwan 31

® Copper IGICI

® Manganese / Arer
® Mineral oil / @ 9

® Jron ore / Pl ?ﬁ?T

Correct Answer :-Copper / didl

31)
Question Stimulus :-

Which is the vowel which follows '‘Q’ when the word, ‘TRANQULITIY' is reversed?/
‘TRANQULITIY’ g H ShIUd B9 WR, P 9T WR Q' & W 3(7dT 82

Correct Answer :-A

32)
Question Stimulus :-

A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / T®
FId Je HUAT BT 3y FHIRGT P fore uRagT &) saawuT HIT YTl FUHT A 3eRT AT YT TSl I
T4 P 3R 37T A fawen ft -

A. This option allows having uniform rate for day and night trips. This would cost you
Rs.1000 per trip. / A. 38 fd®eu 9 3R 7 &1 g & e 99 o 811 @1 ergufa 3a1 81 399 ufa amn
3TYPHT 1000 HT W STTIT|

B. This option has differential fare for day and night trips. Day trips would cost 700 per trip
and night trips would be charged 1200 per trip. / 59 fd@ey # a9 3R 7 & =1 & fpve # Sfaw
21 37 3t amn ¥ ufa arn 700 @mnTa St o a ® ufd amT 1200 TgET ST

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /
C. 39 fawey # o 961 &1 o g8 & SMYUR R Y[ forar SRk 39H ufa 9 800 Fug faswman g afe
T git 50 . dt. & e gt ok 1100 wuT faswran g afg gdt 50 . #. & &7 rft

If the company has 2 day trips exceeding 50KM and 3 night trips less than 50KM, which



option would be the best? / af¢ HU-t & U 50 fFaniier A f¥e 1 2 &7 & g 3k 3 I 50
freHier A o9 #1 3 A B AT §, @ B AT AP T T 33T ) HbdT 82

e A

e B

e C

® Either Aor C/A3Ydl C
Correct Answer :-C

33)
Question Stimulus :-

Which of the following belongs to the same family as Basket, Pail and Pan? / ra A o9 9 I tiar @
Taifta & o fr a8, Trad 8k 92

® Knife / Q'\Pf
® Spoon / WA
® Fork / dicT
® Bowl / Caari|
Correct Answer :-Bowl / &Rl

34)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / faay o
98 T [Td PO S qIihal I 3@ 3|

e Sister and Brother / dgd 3R ‘l-ﬂi

e Uncle and Aunt / dmdl 3R =Tt

e Grandfather and Grandson / 3IgT 3R UdT

* Father inlaw and son in law / 93X Gﬁ'\'a"l'q'l'c{
Correct Answer :-Uncle and Aunt / 97T 3R 9=t

35)

Question Stimulus :-



At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three
of the program sets must be the ones that were operated on the previous day. The program
operating must also satisfy the following conditions: / T® Eﬁﬂfﬂaﬁ? ST T

P,Q,R,S,T,U,V 3R W 36 & & uig »dwHl &) g3 fa71 g™ &1 Ayl faran) nﬁ%%ﬂﬁﬁﬁ‘—r%ﬁw
é@m@?ﬁq Fad o1 FriEH W g A1 o s f}F T« e vareE o g w6l & SR
|

1. If program P is to be operated on a day, V can’t be operated on thatday. / 1. 3R P
iy fbdt o wemar smewm, &) 39 f&F v &) gamar EY o gl

. If Q is to be operated on a day, T must be one of the programs to be operated after Q. /

2
2. 3R Q HrdwH it feT aaman wmew , T HrdwHl # & U 91 A1eT St Q & 9I¢ Il SIHT 91T |

3. If R is to be operated on a day, V must be one of the programs to be operated after R. /

3. 3R R $dwH fHll faa Tamar se, v wriwHl @ T g1 91fey, st R & 91 Il ST 91g el

4. The last program to be operated on any day must be either S or U. / 4. Sifaw wriwpw it
<t fas1 oamar s, 98 s a1 U § | e g 9feu|

Which of the following is true of any day’s valid program set operations? / a9 & fosdt off
& & faftr=r wrderw Je SR & IR ° ®iF W1 9w 82

e P can’t be operated at 3" place / P &I dHY RIM W I@AT 81 ST GHdl
e Q can’t be operated at 3" place / Q HI T RIF W IAT el T JHdT
e R can’t be operated at 4th place / R P NY TIF W TA@TdT Tl o gPpar

e T can’t be operated at 3rd place / T P TR RITF WR IATIT T8l oIl bl

Correct Answer :-R can’t be operated at 4" place / R @I Y RIM W Ia@MAT T8 ST bl

36)
Question Stimulus :-

If cream cracker means computer programming, and its cream cracker, then it’s not

programming. / If¢ B $HdR BT Haad FeR UHITRAT 8, 3R a8 FH $HR & af g NI =8t 81
* True / Tg!
* False / Tad
e Maybe / 8 TPl §
 Irrelevant / 3THEfS

Correct Answer :-False / TTdd

37)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweq ﬂh"'{,\_rﬁ L] TP
¥ - fou T 3= & 99 3:

It is not true that both Ooty and Shimla are hill stations /98 94 qﬁ%%w 3N e

a6t e e 8
e Ooty is a hill station and Shimla is a hill station / 3¢! fg@ ®3 8 3R Rmar fga ¥ 8
® Ooty is a hill station or Shimla is a hill station /ﬁ%ﬁ@’lﬁ%mm%ﬁwa

° %(_);I;%s not a hill station and Shimla is a hill station /w%ﬁwqﬁ%&ﬁ?ﬁmﬁﬁ

® Ooty is a hill station and Shimla is not a hill station /w%ﬁ@?ﬁ%sﬁ?m%ﬁ
WA ®

Correct Answer :-Ooty is a hill station or Shimla is a hill station / ¢} fga RTA 2 a1
Rryer fea w8

38)
Question Stimulus :-

The positions of the second and the eighth digits of the number 39128564 are
interchanged. Similarly, the positions of the fourth and the fifth digits are interchanged.
The positions of the first and the sixth digits are interchanged and the positions of the
third and the seventh digits are interchanged. Which of the following will be the third
digit to the left of 3 after the arrangement? / I&IT 39128564 & §'\=|3\f 3R 3T6d WH & 3P
MUY § g¢d fou e &1 s+t avE, Y 3R iad & WAl & 3P MUY H ged U M &1 Ugd 3R B
3P P T T & Tou 3¢ 1T ¢ 3R e 3R Frad 3/ & R 3 & voa fog T g1 P & @
IEIT & 971G 3 & T3 3R ATERT 3P DI AT §H2

° 2
e 4
e 6
e 8
Correct Answer :-6

39)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 faseu gfHQ
Sil 3T T Syl wd el & R d 9L R



Statements: / ®Y-:

All bats are balls / | gedt ¢ §

All balls are balloons / \qﬂ-ﬁﬂ%ﬂﬁﬁ?
Conclusions: / fAwsd:

I. Some balloons are bats / I. $9 ﬂﬁﬁ'aﬁ%
II. All balloons are bats / II. mﬂgmﬁaﬁ%’

® Only conclusion | follows / Had fsed 1 Apadar %

® Only conclusion Il foIIows/W freed 1| e %

® Both conclusion | and I foIIows/Eﬁ:ﬁ foreed 1 Gﬁ?' II fAoad %

® None of the conclusion | or Il foIIows/ﬁW'Sf IGTIIH A aﬁ% qﬁ Freadr %
Correct Answer :-0Only conclusion | follows / Fad ey 1 fAeadr %
40)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, tl?ﬁ ar tﬂ-}f & di= fedt
TR A Pig gay g| 7 fawent &  dtur ug g e TR ug & I1y 3} R &1 J6¢ 3|

NUMBER : UNBMRE :: GHOST : ?
® HSOGT
® HOGST
® HGOST
® HGSOT

Correct Answer :-HGSOT

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Find the two numbers whose sum is 43 and their difference is 7. / E.Pf =g ﬁﬁﬂm =11 911 43 % 3R
T 3R 7 B

® 30,13



® 2518

® 2320

* 36,7
Correct Answer :-25,18
2)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWI gAHT 4GaT Bl R DI :

121,144,169, ,225
* 190
* 196
® 200
® 198
Correct Answer :-19
3)

Question Stimulus :-

A’s salary is 30% more than B. B’s monthly income is 20% less than that of ‘C’. If the difference between the incomes of A and
Cis 800, what is the monthly income of B in Rupees?/ A &I dd4 B I 30% 3w %I B &1 HIRI® 34 'C' &1
RS 3T | 20% FH 31 IS A 3R C F 31 & o1 HT 3k 800 g, dl IUT & B &} AIR® 39 FT 82

® 20,000

® 20,800

® 18,000

® 16,000
Correct Answer :-16,000
4)

Question Stimulus :-

The series given below contains a sequence of alphabets, numbers and symbols. Identify

the incorrect combination: / & & ¥ 4@aT 3R} T TWATHT BT SHH WANT Bl 8| TAd Hae



UgEn-a|

(i) pjpd6jd5%d3w
(ii) pjpd6jd5%d3w
(iii) pjpd6jd5%d3w

(iv) pjpd6id5%d3w

® iii
® jv
Correct Answer :-iv

5)

Question Stimulus :-

In how many ways can 7 persons be seated round a table? / T eTA &b ﬁl_(f 7 @ &1 fpaq a8 | Sorm o

Pl 32
® 5040
® 720
® 120
® 2520
Correct Answer :-720
6)

Question Stimulus :-

With a uniform speed, a car covers the distance in 6 hrs. Had the speed been increased by

4
hours. This distance is/ JHH

10 km/hr. the same distance could have been covered in 5

fa & ga 9Tl Th FR 6 U H TP Afda g&t o o=l 81 afe fa 9g #¥ 10 i/ der 7 sy ot st g&

1

#ts Hel o o4 foran o Ao 1 98 g3t grit

o 420 km/ 420 oo+t



o 450 km/ 450 fopeh
e 400 km/ 400 fopet

® 410 km/ 410 ot

Correct Answer :-420 km/ 420 fpt

7)
Question Stimulus :-
4 3 5 12 R
— == —+—w = —
. . . C P . £ I
Which of the following is equal to ?/ ﬁ?ﬁﬁ?ﬁq a1 * W%?

§+3><5><9 =2xBx2

;—3X5X9—12><5K2

44+3+-3+2x5x9=6x2

4+3x5x0 =342 xBx2

i+3><5>< 0 =2wBGx2
Correct Answer ;- 3

8)

Question Stimulus :-

Selling price of 50 pens is equal to cost price of 80 such pens. What will be the profit or loss after the

sale? 50 HAH PT fa! T 80 FAH & AN Yod P IRTaR ¢ | fIsPt & 1 AT a1 31 F°1 M2
® 40% profit/ <Y

* 40% loss / B4

® 50% profit / lTH

® None ofthesel?g:ﬂ?f'\ﬁaﬁ'ﬁ:lﬁl

Correct Answer :-None of these / T & ?ﬁé T8

9)

Question Stimulus :-



If the selling price of 16 water bottles is equal to the cost price of 17 water bottles. Find

the gain percent earned by the leader? / 16 UH! ®! Sidal &1 faw F1HaT 17 I $ diaal & g
I & R g1 af faskar gy sifsta @y wfamra &1 gar avmg?

1
-240/0

-l"—|l—~

-l"—|-—~

Correct Answer :-6 %

10)
Question Stimulus :-

Find the value of K, if V3: 4 and K: 24 are proportional. / If¢ v3: 4 3R K: 24 JHJUIA® &,

K 3T 9 a1

e 5V3

e 3V3

* 6V3

e 8V3
Correct Answer :-6V3
11)

Question Stimulus :-

What percent decrease in quantity would exactly cancel out the 20% increase?/ HIAT H fraq ufawa & s o P
I Bt T3 3P 20% Bt g He TR

-
r

®* 163%

® 18%



® 20%

1
* 333%

.
s

Correct Answer :-16%%

12)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 2% T3 IR val & ¥ = A T vad & i I9H F19 91 v 8 22

Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

(i) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16828

(814) 355-5690

(ii) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

(iii) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690



(iv) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

® jv
Correct Answer :-i
13)

Question Stimulus :-

If ABCDEF is coded as ZYXWVU then what will be the code for FERRARI? / df& ABCDEF @I zvxwvu & Hifed forar

STdT @, Y FERRARI & ford &R ig g

® UVIIZIR

® [|ZUUVUM
® UlvvMvz
® MUzZzvz

Correct Answer :-UVIIZIR

14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ"ﬂ &R gAMR SRl Bl T a?rﬁrq ta_cbab_b_bc_
ab_b

® bcabc
® bcbac
® bbcac

® cabcb

Correct Answer :-bcabc



15)
Question Stimulus :-

If 'WOMEN'’ is encrypted as ‘OWMNE’, how is ‘NOTES’ encrypted as? / df¢ ‘WOMEN’ &I
‘OWMNE’ ¥ Ty f5aT 14T §, 99 "NOTES’ & $4 Ay fHar S ?

OTNES

NOETS

SETON

ONTSE

Correct Answer :-ONTSE

16)
Question Stimulus :-

181-31+(150x3)/50-(170x20)x0=?
® 159
* 168
° 170
° 189

Correct Answer :-159

17)
Question Stimulus :-

The HCF of 2,3,and 5 / 2,3,3/R 5 &1 HCF
e 0
e 1
e 3
e 5

Correct Answer :-1



18)
Question Stimulus :-

In the following q}lestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, BN $R@d1 A U U TAd 8| TAd US I BIoR|

19,2,38,3,116,4,456

® 19

* 116
* 38
Correct Answer :-116
19)

Question Stimulus :-

Find the average of numbers between 25 and 75, which are multiples of 7? / 25 3R 75 &
¥ 91 7 | faursy w@mnsit &1 siva Rewifere

® 49

° 42

® 56

® 63
Correct Answer :-49
20)

Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬂ'lﬂ ST PR @l Cg| ORI P :

1,3,6,11, 29



° 18
Correct Answer :-18
21)

Question Stimulus :-

In the sequence shown below, which figure comes next? / <@ RER Ta H0 A 3pTd! 3mpfa
S & gRiT?

* < T Q&
Y
® ¥
&
L
4
[ ]
a
Sl
[ ]
&
it &
[ ]
ir
£
o
[ ]
i
4
g

Correct Answer :-

22)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting even digits on both

the dice? / & TR U& I1Y b T 2| 1 U R FH T-T 11 1 THGHT HT 82
* 1/6
° 1/4

° 1/3



° 1/2
Correct Answer :-1/4

23)

Question Stimulus :-
A can do a work in 12 days and B in 16 days. They undertook to do it for Rs. 6000. With the help of ‘C’ they
completed the work in 6 days. What is the share of B? / A T HBTH 3t 12 fei o GRT dY Hhdl 23R B 16
faat #1 3B 9 BTH B A & f 6000 FUT 99 fFu| «C’ & Ag™dT |, IBI4 59 HTH &I 6 fa1
® W71 f5ar1 B &1 fawan fwamn 82

® Rs. 2000 / 2000 ¥=UQ

® Rs. 1880 / 1880 ¥=U¢

® Rs. 2250 / 2250 4T

® Rs. 2440 / 2440 =T

Correct Answer :-Rs. 2250 / 2250 ¥UUQ

24)
Question Stimulus :-

Two dice are thrown simqltaneoysly. )tht is the p_robability of_ getting odd digits on both
the dice? / Gl U TP T4 B 7T g1 S UTHl IR AUy W= g9 &t JUTa-T &1 82

* 1/2

° 1/3

° 1/4

* 1/6
Correct Answer :-1/4
25)

Question Stimulus :-

If ‘DIVISION’ is encrypted as ‘DVISIOIN’, how is ‘STATES’ encrypted as? / gfe ‘DIVISION’
$! ‘DVISIOIN'Y TAfhY farar a1 8, 99 'STATES’ &1 $ TAfhy farar smhm?

® SATETS

e STAETS



e SATTES

e SAETTS
Correct Answer :-SATETS
26)

Question Stimulus :-
If ‘LPPHGLDWH' is encrypted as ‘IMMEDIATE’ how is ‘WRSVHFUHW' encrypted as? /
gfe ‘LPPHGLDWH’ &) 'IMMEDIATE’ & TAf%Y foar 71 8, 99 ‘WRSVHFUHW’ &t % Ty
e S
* YUVKIXKY
e FAITHFUL
e TOPSBRASS
e TOPSECRET
Correct Answer :-TOPSECRET
27)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AT &R TAHT 4TAT B! [T BIfOTT : abc
_bca _ _ab _

® chcc

® ccha

® abac

® abcc
Correct Answer :-abcc
28)

Question Stimulus :-

A walks at 4 km/hr and 4 hours after B cycles after A at 8 km hr. How far from the start does B meet A?/ A 4 fopei/eeT
Ft TIfa A T 3 3R 4 6 91 B WIS A 8 fFHufi/der #t ufa & A &1 a1 H31 3= wear 31 Rfuw
fig 9 fra=it gt W B, A | fyamm?

o 20 km/ 20 fopeht



o 24 km/ 24 fopeht
o 28 km/ 28 fpHl
o 32 km/ 32 fpehl

Correct Answer :-32 km/ 32 Tt

29)
Question Stimulus :-

In a certain code, 2346 is the code for ALUR and 15789 is the code for EGKPT. What does 23549 represent in the code.

/ foddt @ BIE |, ALUR F ol BIS 2346 § 3R EGKPT & o BT 15789 B PIS | 23549 T ST 82

® EPALR

® AGULT

® KLUPR

® ALGUT
Correct Answer :-ALGUT
30)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IRL] GI'ITR[ & g9 & ford
a9 I@T 9 feat @t @i & smazgdar g




Correct Answer :-13

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Four candidates appeared in an entrance test for MBA course. The test had a total of 100
questions. Each correct answer was awarded 1 marks and each incorrect answer attracted a
penalty of - 0.25 marks. Each unattempted question however was given 0 marks. The
following table summarizes the performance of the candidates. / IR IHIGIR MBA UTSTO%HH &
fore vawr viten ® =fira gu) wdem ¥ @ 100 UY A1 YIS TE 99 B 1 3 3w AT 3R UAS Terd
Sa1d UR 0.25 3i$ HIET 111 39 AP U9 & e RSraet wary 38 far mar 39 e o oiw f&ar man w0
aIfereT IHIGaR| & UgRH $T UR i@ 31

Some cells have been left blank intentionally. / $& WMl & TFIH®HR Wel BIST T4 8

Candida Attempte e

tef Total / d ed/ 999 | Correc | Incorre | Marks/
SFEHAIGAR | Tl jpafaa | =gt | v |t ea | FE
Ashwini

I ATEE=T 100 a0 10 G0

Bobby /

ardr 100 25 75

Chandu

fﬂ?l; 100 a0 20 5
Deepak /

FEES 100 15 40

Which candidate scored the highest marks in the test? / foa Suliear G| g3t A 999 TG 3P §1U?
® Ashwini/ 3@7-?[
® Bobby / dt
® Chandu /g
® Deepak/ dus
Correct Answer :-Ashwini / 3f%t
2)

Question Stimulus :-

Two metals that can be cut with a knife are / G YTd forg @ﬁﬁ PIeT oI JHdl 8



® Aluminium & Iron /Qﬁ&lﬁ'q'q 3R @

® Sodium & Potassium /@ri%mw 3R MeRmw

® Copper & Zinc/ﬁw 3R ST

® Silver & Gold / T} 3R HHT
Correct Answer :-Sodium & Potassium / THSTH 3R TRy
3)

Question Stimulus :-

Of the following liquids, which is the best conductor of electricity? / fofafaa saf & 9 CaC| ﬁg‘q'cr &1 Jaraq
ATAP 82

® Sugar solution /?ﬁT'ﬁ faaas
® Spirit / faufye

® Distilled water / 3Td S

® Caustic Soda / GIgP st

Correct Answer :-Caustic Soda / GTg® HIST

4)
Question Stimulus :-

A simple tool used for removing weeds & for loosening the soil is / WUdAR g
3R Ut A drar 1 & ford waT fran M 91T WRa U7 8

* Plough / 9H®U®

e Hoe / ®ald

e Seed drill / I @

e Cultivator / fam™
Correct Answer :-Hoe / $ald
5)

Question Stimulus :-

A plastic scale after being rubbed against dry hair attracts bits of paper as it acquires / Th WATRES P Pl w

el A WS & T1¢ A & cHS! DI ATHT HIaT ¢ FIfP a8 TN YR H AT &



® Positive charge / ¢ 3ragr
® Negative charge / BUI 3w

® Neutral / JGTEI
® Both positive & negative charges / Y- 3R BT A= a:ﬁ

Correct Answer :-Negative charge / 50T 3TAY

6)
Question Stimulus :-

Four candidates appeared in an entrance test for MBA course. The test had a total of 100
questions. Each correct answer was awarded 1 marks and each incorrect answer attracted a
penalty of - 0.25 marks. Each unattempted question however was given 0 marks. The
following table summarizes the performance of the candidates. / IR G‘lIﬁE{EI'IT MBA UTGUHhH &
forg wazr wiiten ® e g1 wden ¥ T 100 UY ¥ UAS Wl A B 1 3P & M1 3R UQAP Ted
4919 UR 0.25 3i% 1T AT 39 UAP Uy & fore et yar 78 forar mar 39 forw o 3w fear wan Ay
dIferPpT INGART & YeRiH &7 9R fe@rd! g1

Some cells have been left blank intentionally. / $© LGIE | 1B CE KK BIST T 8

Candida Attempte nauennt

tef Total / d ed/ T | Correc | Incorre | Marks/
JFHCaR | P e | =g | vEd | cteea | 3P
Ashwini

I ATEE=T 100 a0 10 G0

Bobby /

ardr 100 25 75

Chandu

i'r‘_'-]?l; 100 a0 20 5

Deepak /

FHEED 100 15 40

Which two candidates scored equal marks in the test? / foa 33[ Maaﬁr C| qﬁ&ﬂ A TR 3P BTRIH fea?
® Ashwini and Bobby / 3if3= 3N qidt
® Bobby and Chandu / STd 3iI¥ dg
® Bobby and Deepak / STdl MR Sy

® Ashwini and Chandu / 3if3t 3% dg



Correct Answer :-Bobby and Deepak / dTd1 3fi¥ Sus
7)
Question Stimulus :-

The diameter of a hydrogen atom is 0.000000000106 m. The Standard form of this number is
./ E_CFE'E@W UIHTY pT HTH 0.000000000106 m %I H Gl hT HIHAD =7
gl

1.06 x 1010 m

1.06 x 10° m

1.6 %1010 m

1.06 x 10710 m

Correct Answer :-1.06 x 101" m
8)

Question Stimulus :-

Evaluate cos 60° cos 30° - sin 60° sin 30° / cos 60° cos 30° - sin 60° sin 30° &1 JAiH
G2y

3-1)2

° 12
Correct Answer :-0
9)

Question Stimulus :-

A rectangular box is 2 m long and 7 m wide. How many cubic meters of sand are needed to fill the box upto a depth of

6 cm? / U ATIATPR fEeaT 2 Hiex daT @ 3R 7 Hier ST 21 f$= &1 6 AT MRS 9 WA & fow fopaq
g Hiex ¥d B ATazgHdT1 gRlY?

e 84

® 8.4



* 0.42
° 084
Correct Answer :-0.84
10)

Question Stimulus :-

In the given figure DE || BC. Find AD. / &t T} asfa &, DE || BC 8 df AD 9 &1
_,.ff -x‘-x! & cm

i |
I?f'_‘\f:
g Y54 om

R
E L

* 1.8cm / 1.89HL.
e 24cm / 2.4 il
® 48cm / 4.8 .
® 36cm / 3.6 I

Correct Answer :-2.4cm / 2.4 9H1.

11)
Question Stimulus :-

Which vessels carry CO2 rich blood from all parts of the body back to the heart? /B Y arfgere
CO2 gad Yo $ IR & Tt YT A geg & SR o Wl 82

Arteries / ywfrai
Veins /fQRT&
Capillaries /aiﬁﬁﬂ'.q
Arterioles / HeIccal
Correct Answer :-veins / RRT

12)

Question Stimulus :-



One micrometer is equal to / TP Hﬁﬁﬁ'lﬂ?\f m ERIEES aTﬂ %
1X10°m / 1x10C
1X105m / 1x10° Y
1X10%m / 1x10
1x103m / 1x103 i
Correct Answer :-1x10°m / 1x10°° 1
13)
Question Stimulus :-
The Force that opposes the motion of an object is called / dd il a &1 A P Ry Han %, HEdrdT 8
Magnetic force / Ga®1a da

Muscular force / U=fT 9

Gravitational force / Wﬁﬂﬁ?ﬁr
Frictional force / uif T

Correct Answer :-Frictional force / T¥f 9

14)
Question Stimulus :-

Four candidates appeared in an entrance test for MBA course. The test had a total of 100
questions. Each correct answer was awarded 1 marks and each incorrect answer attracted a
penalty of - 0.25 marks. Each unattempted question however was given 0 marks. The
following table summarizes the performance of the candidates. / IR IHIgaR MBA UTSI$HH &
fore wawr wdien # wfe vl wienm § $@@ 100 Uy A1 UAS T SO B 1 3P A T R UAF Teq
aTd UR 0.25 3% HIeT 141l 39 AP U9 & e e wary 98 far ar 39 fire o siw f&ar wan o
AT IWEART & WeRH &1 9R 3@ g1

Some cells have been left blank intentionally. / $© Eﬁﬁﬁﬁ@ﬂ@?ﬁ@?ﬂw%



Candida Attempte sl

tel Total / d ed/ 999 | Correc | Incorre | Marks/
SFEHAIGAR | T lpafaa | =gt | vEd |t ea | FE
Ashwini

IEIEERD 100 a0 10 G0

Bobby /

ardr 100 25 75

Chandu

"r‘_'-ﬁl; 100 a0 20 i
Deepak /

FHEES 100 15 40

How many answers given by Bobby were incorrect? / aﬁ’rmﬁq 1LY IEGEECICKIGCRR

10
15
25

Correct Answer :-0

15)
Question Stimulus :-

Four candidates appeared in an entrance test for MBA course. The test had a total of 100
questions. Each correct answer was awarded 1 marks and each incorrect answer attracted a
penalty of - 0.25 marks. Each unattempted question however was given 0 marks. The
following table summarizes the performance of the candidates. / IR IHIgaR MBA UTISI$H &
forT wazr wdten ® e g1 wdenm ¥ T 100 UY A1 YIS Wl O B 1 3P G W 3R URAF Ted
A1 UR 0.25 3P HIel Tl 39 Ud® Y & e Rraer v 181 far man 39 fae o e fear man e
AIferdpT IWEART & WeRH &1 9R 3@ g1

Some cells have been left blank intentionally. / $© m@mmmw%



Candida Attempte sl

tel Total / d ed/ 999 | Correc | Incorre | Marks/
SFEHAIGAR | T lpafaa | =gt | vEd |t ea | FE
Ashwini

IEIEERD 100 a0 10 G0

Bobby /

ardr 100 25 75

Chandu

"r‘_'-ﬁl; 100 a0 20 i
Deepak /

FHEES 100 15 40

On an average, how many questions were correctly answered by the four candidates? / aﬁw, fpaa gara =1 ;ré’r
1 I IR IWGaR| gRT Sa19 f&ar ar 4r?

67.5

65

62.5

60
Correct Answer :-62.5
16)

Question Stimulus :-

Milk turns into curds faster in summer because / iy & [ a'tﬂ - | \_rl?cﬁ tlﬁaﬁ{_d ﬁﬂT % Hife

The growth of bacteria increases with the increase in temperature / <TUHTH & TSIEef I ddifyar @it Q'@
et ?

The growth of bacteria increases with the decrease in temperature / ATUHTH ¥ ged I aaiiar 1 q@
dedl 8

The growth of bacteria decreases when the temperature remains normal /aﬂiﬁﬁtﬂ &1 q@ gadl % old
ATTHT | TEaT &

The temperature will have no effect on the growth of bacteria / ITTUHT BT Sadifear & Q'@ R aﬁ'&; YHTd

et g

Correct Answer :-The growth of bacteria increases with the increase in temperature / TdJHTT * aaﬁ |



dedifear 9 gfs Jedi @

17)
Question Stimulus :-

Which one of the following numbers is not a square of any natural numbers? /

o wemat # ¥ e & et oft o= quife uefas T=m &1 arf a8 @2
17956
18225
53361
63592

Correct Answer :-63592

18)
Question Stimulus :-

The components of an electric circuit / T fagaq URUY & Uew ¢ :
Conducting wire / dTel dR
Switch / f&qa
Battery / CLL|
All of the above / SURIGT THt

Correct Answer :-All of the above / SURIad It

19)
Question Stimulus :-

The area of an isosceles triangle with AB = AC = 6 cm and LBAC = 90° is

Tufgarg e S AB = AC = 6 Y 3R LBAC = 90° &T &% &
18 cm? / 18 {ft 2
36 cm? / 36 Y 2
12 cm?/ 12 Y 2

52 cm2/ 52 9+ 2

/ T



Correct Answer :-18 cm? /18 9H} 2

20)
Question Stimulus :-

When we place our finger of right hand on the inner side of our left wrist we feel throbbing

movements called pulse and what is it due to? /SId §H arqﬁm‘auaﬁmﬁ GITFﬂEITdTEWITQFa5
IR DI AW IWd € 9 g9 YA Tfafafe S TgH F3d € o 1Sl Fgd 81 3 v s giar 22

It is due to blood flowing in the veins / ¥ TRRTS & Yo WaTg & BRI BT &
It is due to heart beat / ¥ §&U TG & BRI GidT &
It is due to blood flowing in the arteries / ¥ Y=} H Yo UATE & PRI BT @
None of the above / SURTad H ¥ Pl gl
Correct Answer :-it is due to blood flowing in the arteries / & YHTIY H Yo WaTg & HIRUI il &
21)
Question Stimulus :-
The factors of 3 —a®is ____ / x3 - a3 & UGS &
(x—a) and (a® + ax + %) / (x—a) 30X (a® + ax + a?)
(x-a)and (x2 - ax + a?) / (x-a) 3R (x* - ax + a?)
(x+a)and (x2 - ax + a?) / (x +a) 3R (x* - ax + a?)
(x+a)and (- ax-a?) / (x +a) 3R (x*- ax - a?)
Correct Answer :-(x-a)and (a2 + ax +a?) / (x—a) 3R (a? + ax + a?)
22)
Question Stimulus :-

Which acid is the building block of protein molecules ? / I T 3 WA 3] BT frmto @ %?
Fatty acids / 99T 3+ |
Amino acids / Q’lﬂ=ﬁ R
Formic acids / BIfi® el

Acetic acids /@W A |



Correct Answer :-Amino acids / THIAI 3|

23)
Question Stimulus :-

Name the initiative taken by the government of India to eradicate Polio / gifert & ¥4 H YR IRBR R
P TS Ugd BT A9 &

Polio eradication initiative / Uiferat 3¥e Ugd

Polio immunization programme / uﬁﬁu‘ruﬁ?&mw

Pulse Polio Immunization programme / U¢H qifera ufaReor CILER

Polio vaccination programme / giferat ApTH=v1 HRIHH
Correct Answer :-Pulse Polio Immunization programme / ¢ qifera ufaveor PTAHH
24)

Question Stimulus :-

Network of tubes called Tracheae are the respiratory organs of / Aferdl &1 STa aﬁ?\’:ﬂ CaSIGH
21 Ug fraeT 49+ T 8

Insects / @i
Earthworm / aﬁaﬂ
Fishes / Wodl
Mussels/?iﬁﬁ

Correct Answer :-Insects / ®Ic

25)
Question Stimulus :-

An amount of Rs. 2,430 is divided among A, B and C such that if their shares be reduced by Rs. 5, Rs. 10 and Rs. 15,
respectively, the remainders shall be in the ratio 3:4:5. The share of Bis: / 2,430 & 31 Al A, BTdC | Y UPR
ﬁﬁnﬁiﬁ%ﬁﬂﬁ%wﬁmmﬁﬁm: 5%, 10 ¥ U4 15 ¥ YeT WY, a9 ¥ $T 3JUTd 3:4:5 g1 B
T 3T 3:

Rs. 790
Rs. 800

Rs. 608



Rs. 810

Correct Answer :-Rs. 810

26)
Question Stimulus :-

Which part of the digestive system helps in absorption of water and some salts from the undigested food

materials? / UTS &3 &1 &) S AT UTT g Y f1 W ey uerd & o1 ofR $© @aur & sra=irwor o
QAT BT 32

Large intestine / §GGIA
Small intestine / &g
Pancreas / 3T
Oesophagus/m
Correct Answer :-large intestine / §8GI3

27)
Question Stimulus :-

Four candidates appeared in an entrance test for MBA course. The test had a total of 100
questions. Each correct answer was awarded 1 marks and each incorrect answer attracted a
penalty of - 0.25 marks. Each unattempted question however was given 0 marks. The
following table summarizes the performance of the candidates. / dR IHIgaR MBA UISI$H &
fore wawr wdenm # wfe Ul v § o 100 Y A1 UA® G SO B 1 3P & T 3R UAF Ted
Sa1d UR 0.25 3i$ HIeT M1l 39 AP uY & fe e yarny T8 far war 39 fae o siw faar wan g
dIfereT SFiGaR] & UER= &1 IR e 7

Some cells have been left blank intentionally. / $© @l b1 Wﬁww BIST T 8



Candida Attempte kR

tel Total / d ed/ 999 | Correc | Incorre | Marks/
SFEHAIGAR | T lpafaa | =gt | vEd |t ea | FE
Ashwini

IEIEERD 100 a0 10 G0

Bobby /

ardr 100 25 75

Chandu

"r‘_'-ﬁl; 100 a0 20 i
Deepak /

FHEES 100 15 40

How many answers given by Deepak were correct? / T:ﬁ'qT:ﬁ aRI %Q M fpaq Sae '\‘Eﬁ ?

45

50

55

60

Correct Answer :-45

28)

Question Stimulus :-

The cost price of 20 toys is the same as selling price of 15 toys. The profit percent in the

et & fawa geg & QU 31 i | gU a1y &1 ufa=id §:

transaction is: / 20

131
3

30
25

50

131
3

Correct Answer :-

29)

| T 9-ed 15




Question Stimulus :-

Reason for excessive currents in a circuit / Th TRy # rfie URT &1 BRI % :

Direct touching of wires due to wear and tear of insulation / IEEUEK2 «c-bc & PRUT ARI Bl T&H
U Al

Connecting many devices to a single socket / T®h 8 fder HT€ SYDh T Gﬁsﬁ J
Both A & B / A U4 B QI
Voltage fluctuation / fIgaq a9 IaTawa

Correct Answer :-Both A & B / A T4 B G-l

30)
Question Stimulus :-

How many concentric circles can be drawn inside a circle of radius 100 m? / 100 ez Bar 9 qd *»

3R fhaq IPbf=d gd 90 &1 9Fd 82
100
10
50
Infinite / 3=

Correct Answer :-Infinite / 3+



